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NOMOGRAPH FOR CAR SPEED, ICE, MOTOR/GENERATOR1
AND MOTOR/GENERATOR2 SPEEDS.

TOYOTA PRIUS

5000

MG1 = Small Motor/Generator speed (rpm)
MG2 = Traction Motor/Generator speed (rpm)
ICE = Internal Combustion Engine speed (rpm)
V = Car Forward Velocity (mph)

Controlling Equations:
mg1 = 3.6*ICE - 2.6*mg2
mg2 = 57.07*V (rpm when V is in mph)

ICE = (mg1 + 2.6*mg2)/3.6
(drive wheel rolling radius = 11.5")

ICE Power Required

@ Constant Speed V
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Assumes overall HV Battery/MG/ICE
drivetrain efficiency = 69%.
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Prius ICE Power Output
(Source: Toyota THS II paper, NY Auto Show, 2003)
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